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Group A

Answer any four questions

l. Write short
notes on the fo i
i "ﬂ“"lrlg {ﬂ_n}l' fuur}
a) Wat 1stributi
( er distribution layouts
(b) Corrections in chaining
=
(¢) CBR test
(d) Slack and float
(2) Adsorption process in w aler treatment
| : (8x4)
I__ |.- . -.ll"' T T ey - g
e SHOWAWIL g neat sketch, the methods of taking a house connection for wiater supply
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(D) Liast with sketches the various sysitems of plumbing used for house drainage.
(c) List the various construction equipments whicl > generally used in L
pipments wnich are generally used in the construction

prajects

(10+12+10)
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3. (a) What are the pnme objectives of water and waslewater treatment

Draw a typical flow sheet of conventional treaunent of municipal wastewater and

fh)
mention the function of various unil processes,
(¢c) Define ‘primary ‘secondary’ and ‘tertiary” treatment of wastewater with suitable
exXampics.
(6+15+11)
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4. (a) What is orientation ol plane table? Discuss the methods of orientation
(b) Discuss different methods of plane tabling.
(15+17)

5.(a) What do you mean by well development? Discuss different problems associated with well
(a a

construction. |
{ was conducted with a 100 mm diameter well at a rate of 10 m*/

(b) Equilibrium pumping t€s
ed aquifer of 10 m depth.
0 m from pumping well were found to be 0.5 m and 0.2 m

The drawdown at two observation wells at a
hr in an confin
distance of 10 m and 3

: ers if piezometric head is 15 m:
i :nd the following parameters |
respﬁnnvely. Fin

P. T. 0.



6. (a)

(b)

(c)
(d)

7.(a)

(b)

.-.', . AT P e,
'h 'ﬁw co-efficient of permeability and transmissibility
ii.  Radius of influence

ni Find drawdown at the well

iv.  Plot distance drawdown curve

(1247 1
Explain the sight distance and factors causing restriction to sight distance. Explain ﬂnmj
significance of stopping, intermediate and overtaking sight distances.
Calculate the stopping sight distance for a design speed of 100 kmph. Take the total
reaction time 2.5 seconds and coefficient of friction = (.35.
Why transition curves are provided in high ways?
A national Highway passing through rolfing terrain in heavy rainfall area has a horizontal
carve of radius of 500 m. Design the length of transition taking the data given: design
speed = 80 kmph: pavement width = 7.0 m: allowable rate of intraduction of super
elevation =1 in 150; no of lanes = 2; wheel base = 6 m,

(8+8+4412)
Greup B

Auswer any ftwo questions

A chain line ABC crosses ariver, B and C being on the near and disiant banks respectively.
The line MB of length 65 m is set out at right angles to the chain line at B. If the fore
bearings of BM and MC are 267" and 42° respectively, find the width of the river.

A closed traverse is conducted with five stations A, B, C, D and £ 1aken in anticlockwise

order, in the form of a regular pentagon. 1f the FB of AB is 30°00 , find the FB of the other
sides.

‘The distances along a sloping ground were measured with 30.0 m chain were 28.7, 234,
120.9 and 29.6 m respectively and the corresponding slope angles were found to be 3%, 3,

?', fﬂ" r&pﬂcﬁwly It was noted afterwards that the chain was (1.025 m too short. Find the )
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:z:::l:;:{:;i T‘;‘:’;ﬂglﬂk .ﬂl ‘h'f Age of 21 days (when cured at an average lemperature
24 | -- and night time 3°C) if the concrete is likely to be subjected to a
siripping stress of 25 MPa. (Given: for 30 MPa, A=2] and B=61),
9. (a) A town has a population of 100000 persons with a per capita water supply nf‘2.2]'::'[12:;:'-:ajfr
tesign a sewer running 0.8 fimes full at maximum discharge. Take a constant value of N
= (013 at all depths of Row. The sewer is to be laid at a slope of 1 in 1000. Take a pesk
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actor o1 3. Assume 85% of water supplied will be wastewater. Refer Figure 9.a
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I'ig 9.a: Hydraulic elements of sewer
(b) A‘w&ter supply scheme is to be designed for serving people of 2 lakhs. Storage reservoir is
6 km away from the city and loss of head from source to city is 20 m. Calculate the size of
the pipe assuming average daily demand of 135 Ipcd and half of the daily demand is to

supply in 8 hours. Use C =130. s el
() A pipe network consists of the following pipes. Find the flow through cach pipe us




P | (15+6+15)
ﬁﬁx(ﬂ) Describe briefly the pumping test procedure 10 estimate aquifer parameters 1n unsteady
condition,

l'b] Write Jacob’s equation for pumping of an aquifer at unsteady condition. s
(ﬂ'*-Fi}Iluwihg observations were made at an ahservation well at a distance of 30m whil
pumping was done at a rale of 200 L/min, Using Jacob’s equation calculite transnussioiity

and coefticient of storage of the ayuifer.

Time, min

Diawdown. cm
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